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SCIENCE (Theory)

(Panjabi, Hindi and English Yersions!

(Morning Session)

Time allowed: Three hours Maximum marks : 50

(Panjabi Version)

te : (i) btqr1 fra-rffi ? zdzs ttt '? feHr-As/il71d-*J a..r tl,S' trd fuH'-*s/a:rd-ar

ASIC ega {dt dA f,T !

(iil ftd-ffi E? a? rt'a. g fe frid a etf 6€ fd fer trs 7'{tz6 xfu z0 f8 ar
,rrj 61d TEW 15 t

(iii) j€-ffi E€ Hw? t?6'hlt dqe t wh{€ i6 dTJ aE qas/q*dr er - ae ruT

db' *ailr I

(iv) rd {rd ryfr a5 t

(v) Wsbd dw srdn (gtsr-O. 
"f. 

E zr3n) fr€ €fsur J t

(vi) 1-1frq ilS afu W e, ft36drwr 10-15 Haei tro, Z-Z ffi e'E VH6r { g-?v

*dr-udT 3A-40 H[,It tre, S-S ffi dE qmt v W€ Lvdr-uTlr 50-60 Hqet tr6 b't-?

5-5 ffi €A W6r e' frdwr-wr 1A0-120 Hwi fts fu€ t

1iil Et AZTrra q'q h* hitaE fr*d A vdq t

grdr-g

Efi e1 ear ge d ufu-Ex' f6'q I

ffi RET ffi Ht tET e'rrl3 3E i'-J t frfu ffi |

fEHS ,,{3 dtS e &'r trd H=te ffi g 6T ffi |

,?{ff fi dh+i EE3i ? t-a fag Tda ur ?

rftrrdrd e1 uFdgril ffi |

fu{.dr e, furE grilr E&d d Hffi ,r{3 ft.g6 6 Ec'Et atre' i ?

HlrEu ,rt{r fr t0 aa ?

lifi =7

1
1.

7

3.

4.

5.

6.

7.

t/z+Ya=l

Vz+rh=l

1

1

1

I
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9.

(2)

grBI-+{ rit-d = 10

4f),8rr, l2ol{} 24a fu 3lilds Eo t-3 rTre- 3 i! } tq WtA! $rg J+drr ? ufr--dq+

lf$Au$us.qa, l+t=Z
),flgfrid ),asd3t Fdat e ffi ifr-fr)r{-J frE- ts := fifr rre 3 (i) \HE }irqrd (ii) qi3s
qa ffi Ee6'e .ro ? l+1=Z

Er6-d u3 sl-Htf,d-c frBd.d xhsd €E ilf,d t a tfr |

d-tr6 R-S ET tET + ? €s-d-d-c fug I

b{'dx1 wo fufum rya arcurarfr xo kfunrr fud'd t dgd ffi |

10.

11.

12.

l+7=2

1+I=2

2

13.

grilr-E dra_- t g

uet*r (rro) rr.ss rrs'ie Fd ffi fte ,]-e' o.tj- Hr€t t ? fr-.-s vo. a HHyr€; I

Z+1=3

dglaq gdrtdi g)rrdr uirrcd$6 RS fdE:h{i fd-{- rtflro'eT east{i ili*}?tr u6 ? z

atr* te EE fr3 e. anr.fub* ar rrr3 Erd f6B | ffi t ss et ffi I 1 +2=3

Erdr Et Trdki 6.{r i-6 ffi aqor E dq'fubd Efu t pir trs fru a ffEr a.a :

(i) teEfl?+{ vJ, u.e1 a.s Efo}r a-d-a rffi,fl{ fuB }€ ;Fgt5tf,6 dH t-e,
ase, t i

(ii) dffi-6 xrr+etg olx uer/u+raxtro Fs qs a u'o1 al} ne-e-asret{r-dE.stJ EIH

1 x3=3

3

1x3=3

?ff, = 1-5

19. tr-d-fr E-dd e' fqqB, dtrdr ar3 ary* ffi )fiks ft-d et E-drp3r 5,s €ildd u"a r 5

frr'

?trflffi ffi3d et Eark3r rrE fufrpfi Et ite e. frqB, dsdr at3. a.es fBqt EH=.O I 5

14.

15.

16.

L7.

18.

verS t t

1iiil .nffia-o dx affia 6rs Era a )?+?6fu, EEr$ a I

x_&fr x-e' ile-6 )rrdrt u drfu ffi3d Ed,€

H.g- fu ,rr3 ffi ffie6 et E-dfr{rflr fdq aabf ufet e ?
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(3)

20. !..r3i >,i3 fuf,{.d ii1-Jd H l

ilr

a'aq6 t gJ u-e ffi ftqr d-d-a * ,.9-grrr-& amrd frfu eT +$ ffi

21. )rtk ffi"Jd et p6rfsr 6rs aal

rua furr*st ffi e gu Ed EEt
J?

qFT-S

1. fti +1 +t{q $ ft1 qfr,qrqT Frcit I

2. Bgf, + RR H qr ffi + fi+qq ,ifu mn q'f.q * rtfro fue] r

3. qqfr f,pn +& + s-{ q S}'{-fr-{ fr erq e}il B I

;1. aq dt fr E-ft eqen tn te qql sra t ?

5. rimq +1 qRErEr Rrd I

6. qnq qker fl fi.{-m jTr.r rfr{ + rfgmq si Rqfr d ffiq rqor B ?

7. ursq.iirr ryr e]il B ?

05/c-x

5

ru=e t t

1x5=5

2+3=5

Hrs u;-a aoo -sS at aa r+0
5

eiq=7

1

Yz+Yz=t

Vz+Vz=I

i{qET

)?-lrdE. as e. gtr5d

iTT

E:e-d-i ggJ.'-er e1

tr5u1

(I.Iindi Version)

le t fi) orqf sar-gftow n gq yw qr fdEq-qletiq-r-m7c f,rd wt I fdEq-+letiqr-+?e
ASIC eneq M r

(ii) wr-gfuw aa d qad yw frnw a@. d /" tat trqffi aBr 26 yv d ryi na qq I d t

(iii) ear-Tfu+r t qfr d.3 q(, WAvT d vearq at ffi ,rl wq/sert w Xwr+n rfr frqr qAn t

(iv) s* yw otftad d r

(v) sp+-w aTt ,nrl (qrrr-s, q, T sfrv) f da Br

(vi) 1-1 ,iq Eti edq veq d :ri( trwt 10-15 {r<7 +, 2-2 e}id qfi yl;rt * dtr 6pyy JQ-(0 ilq.l

l, 3-3 eiqT qfi vtrt * sw wyrrT 50-60 praaT f rur 5-S oi+} Etd yeql i rf,. d{ET
100-120 re} # dr

(vii) oilqpqqrysrc atd silr oifud fua ,fr qqr t

[Tumover
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(4)

qf{Fq 
sfn = l0

8' 4f)' 80, l2ooit{ 24ad qmq}+1f+q sq qqhTqrqfu €Tfhsfr orlg-6qRt*qrwA ? qRqqryqfrqpfi
qmq ql nro of i 

1+l=2
9. wgH-s sr-qo* Hn"t + ffi w-qd E qTq fr qTq wa Hqq (i) qtql.g ,:n+n ,:ir (ii) qrm+ Iq *d qcco

tz
l+7=2

l+1=2

l+l=2

2

ii+ = 18

2+7=3

3

7+2=3

(i) qHqrqq qg wd * mq qf\fuqr +-$ qmrqq 6lE-$T-+H-rEs eir err+fi iq ?it B r

(ii) H{Sqq l]ffir-{s ts mr argzffiw-+ fi req fri q{ wd qq FeN sr{ifrF,rrs iu eqTfi g,

(iii) Etr$qq tH qEAw t Tiqh mr+ o{mFqT qnft ts r

qmq qnr Effi dr mr +ifuq fu* rqrorl r

afr qq si +q frqq +1 g,ctT d +.rft qrBq ?

1x3=3

3

3

qFI-q

19. r*'r gor m Rru-<, e-qr.si sdBfy eTBa H* am qrflr,fr 
r

gTETqI

srBn tsr +1 nsmm fr hgf, ot< mr kdr-fr, r+* qq sdBru q{flreil 
r

10. rTdq ,itt'r Himqr { sl<r E;fl6-iq til g< rqq +-t I

11. ,iw iq-dr w e)fr t i e<t6lq ,fi s} r

12. qrqfiq qrfl{ q{ orEFrfiq ers{ { fr ,ir* M r

qTII-T

13' wo-hgo q'ir E Eg( +fr qqr +1 qT-fr t ? H{ HB-d ursreil r

14. 'irdq Ef,il am q{rq-f{ + m +{-m H.fl qm +r q+q hqr ekfl.B i
15. em{ d? +r nflqk{ mq gh {d Rtri I qE+ q} onr ,fl fud r

16. BqRrkn oenl +l {rnrqfr.s sffi (qil HFn) q frq-fr n-gkc of ,

17.

18.

ri+ = l)

5

5
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(s)

20. *rigsfr ufu ,:tqrg,it fr er<-r M r

s{erql

ffi{q + qE gur frrc} ffi +n'r 6qrt trfl-qrcr {dR-{ *ffi +1 q-$ +ic<r rt-{i B r

21. ntBil H"d fr rorqf,r fr q-4q snan q-fr q ffi 611

OTWI

q-{ qk he}E + w fr eTrq qqfr-{ u-ilrfr fr qq-o frR s-q s-{ HsA t ?

Part-A

1. Define focal length of a lens.

2. write symbols for a battery or combination of cells and a wire joint.

3. Which acid is present in Thmarind andAnt sting ?

4, Why do we apply paint on iron articles ?

5

2+3=5

(English Version)

Note : (i) You must write the subiect-code / paper-code 05lC in the box provided on the title
page of your answer-book.

(ii) Make sure that the answer-book contains 26 pages (including title page) and are
properly serialed as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be
evaluated.

(iv) All qaestions are compulsory.

(v) Question paper is divided into four parts i.e. part-A, B, c andD.

(vi) Questions of l-l mark each should be answered in approximately t0-15 words,
2-2 marks should be answered in approximately 30-40 words, 3-3 marks should be

answered in approximately 50-60 words and 5-5 marks should be answered in
approximately 100- 120 words.

(vii) Draw also neat and labelled diagrams wherever necessary.

Marks = 7

1

Vz+Yz=l

Yz+Vz=l

1
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(6)

5.

6.

7.

Define Pollination.

Which part of brain maintain posture and equilibrium of body ?

What areAnalogous Organs ?

Differentiate between Roasting and Calcination giving examples.

What is a food chain ? Give example.

Write two differences between aerobic and anaerobic respiration.

1

1

1

Marks = 10

l+l-2

l+l-2

2

Marks = 18

2+l=3

aJ

l+2=3

I x3=3

3

3

Part-B

8. How should 4Q, 8C2, 12C, and}4{lresistances be connected to get maximum resistance ? Also

find the resultant resistance. l+l=2

9. How do the trend (i) Atomic size (ii) Metallic character changes in moving left to right in a

period in modern periodic table ? l+l=2

10.

11.

12.

t4.

L5.

L6.

Part-C

13. How is electricity produced at a hydel power plant ? Explain with the help of a diagram.

Write sign conventions used for reflection by spherical mirror.

Write chemical name and formula of washing soda. Also write its advantages.

(iii) Hydrogen gas with nitrogen reacts to give ammonia.

17. Draw a labelted diagram of human female reproductive organs.

18. Why should we conserve forests and wild life ?

05/c-x

Convertfollowing statements into chemical equations using symbols and formulas and balance

them.

(i) Potassium metal reacts with water to give potassium hydroxide and hydrogen gas.

(ii) Hydrogen sulphide gas burns in airloxygen to produce water and sulphur dioxide gas.

https://brpaper.com


19. Explain principle, construction and working of a solar cooker with the help of labelled diagram.

5

or

With the help of a labelled diagram explain principle, construction and working of an electric

(7)

Part-D

motor.

20. Write differences between metals and non-metals.

around us ?

21'. Explain human digestive system with the help of a labelled diagram.

Marks = 15

5

1x5=5

5

3+2=5

or

What are the properties of carbon which lead to the huge number of carbon compounds we see

or

What can you do as an individual to reduce yourconsumption of the various natural resources ?

5
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